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I "1 mwn: inheritance of Tna%¢ nna
a  They received 3 portions:
i Their father’s portion which he had by virtue of being a nxn rxy
ii ~ Their father’s portion which he had as a son of 19n — also a n™x¥n R¥Y
iii 7o was the 1131 of 1an
b  Observation: our mwn follows position that the Land was divided based on n»xn »xxy
i mwrr 1 —land divided to orxn R¥Y as per v. 1
1 Challenge: v.2
2 Answer: compares the current heirs to former — excluding those below 20 years of age
ii  ymy 1 -land divided to yaxn 'R3, as per v. 2
1 Challenge:v.1
2 Answer: this inheritance is unique — the dead inherit from the living
(a) Explanation (»27):if 2 ©an3, who are brothers, agreed to divide nmn equally, but one had 1 son and
the other 2 — the brothers take portions as per the number of sons and bring it back to their father
(the grandfather) and redivide equally — so the 7 12 gets 1.5 portions (his father’s entire half) and
the two sons each get .75 (half of their father’s half)
iii  9YOR 12 pYnw "1 — each group inherits — and anyone who is from both groups inherits twice
iv  The ten scouts — lost their n’pYn to 1951 ywip
v n1p n7 and the 0anonn lost their portions — their children inherited them through their paternal and mater-
nal grandfathers (who were n»1xn "Rx)
1 Note: v. 1 refers to 030 'R¥v as per v. 4 — the land is an inheritance — said to D™¥n *R¥y
vi Support for position of nrxn R¥Y (MWK’ )
1 9": v.3-only makes sense if the division is made based on earlier numbers — X"wp on other position
2 9™:complaint of Tnab¥ mia - only if there was a portion coming to them that they lost
(a) Defense (»aR): for purposes of the redivide (as above) through (dead) fathers
3 Additionally: why would qov 11 complain (v. 5)?
(a) Answer: they were concerned that they had more young children than other tribes
¢ Observation (»2n): all eceived their portion in the Land; else, just like Tnabx mi3, they would’ve complained
i Block: perhaps only those who complained and were compensated were listed
1 Rejection: qoy 11 (v. 5) cried out and weren’t granted their wish
2 Defense: perhaps that was recorded to give good advice — that a person ought to avoid yn py (v. 6)
(a) Meaning (of y©1i7”s words): hide in the forests to avoid yin 1y
(b) Their response: we come from qov, who is “above” the yan v as perv.7 orv. 8
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